practise-learn NC given x sign (9) timelypractice.com

1. Work out 12 x 58

You must show your workings out. X 50
1 0 x5 8 = X -
X 5 8 = <—\ . X 5 38 )
1 2 x 5 8
12 X B8 = i
2. Work out 86 x 75
You must show your workings out.
g X 7 0 = x|2]3]4|5]6|7[8]9
8 X L= 2
8§ X 7 5 3 9 |12 18|21 |24
X101y 12 | 16 24 | 28 | 32
8 0 X 7 5 5
X 7 5 = N 6 18|24| 364248
8 6 X 7 5 7 21 | 28 42 | 49 | 56
8 24| 32 48 | 56 | 64
X 70 9
X T
X 7 5 = - 86 X T5 = oo
3. Work out 24 x 83
You must show your workings out. 2 X 8 0 =
2 X L=
2 X 8 3
x 10
2 0 x 8 3
X 8 3 = —
2 4 x 8 3
X &8 0 =
X | T
24 X 83 = oo X813 g
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4. Work out 81 x 95

You must show your workings out.

§ X 9 0
8 X .
8§ X 9 5
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5. Work out 62 x 57

You must show your workings out.

6 X 5 0

6 X 12 | 16 24 | 28 | 32

6 X 5 7

x 10 18 | 24 36 | 42 | 48

21 | 28 42 | 49 | 56
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24 | 32 48 | 56 | 64
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answers Q1: 696, Q2: 6450, Q3: 1992, Q4: 7695, Q5: 3534,
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